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 BES-127  

BACHELOR OF EDUCATION (B.Ed.) 

Term-End Examination 

June, 2021 

 

BES-127 : ASSESSMENT FOR LEARNING 

Time : 3 hours                            Maximum Weightage : 70% 

Note :   All questions are compulsory. All questions carry 

equal weightage. 

 

1. Answer the following question in about  

600 words :  
 Differentiate between norm-referenced and 

criterion-referenced evaluation with suitable 

examples. 

OR 

 Discuss the recent trends in assessment and 

evaluation with special reference to marking vs 

grading system and open book examination. 

2. Answer the following question in about  

600 words : 

 Differentiate between teacher-made test and 

standardised test with suitable examples. 

OR 

 Explain the concept of online examination. 

Discuss the benefits and limitations of  

online examination. 
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3. Write short notes on any four of the following in 

about 150 words each : 

(a) Construct Validity 

(b) Writing Restricted Response Type of Essay 

Items 

(c) Diagnostic Testing 

(d) Difference between Oral and Written 

Response Tests 

(e) Difference between Formative and 

Summative Assessment 

(f) Co-scholastic Areas of Continuous and 

Comprehensive Evaluation  

4. Answer the following question in about   

600 words : 

 What is a frequency polygon ? Draw a frequency 

polygon of the following data elaborating the 

process of its drawing : 

Class Interval Frequency 

40 – 44 3 

35 – 39 7 

30 – 34 9 

25 – 29 12 

20 – 24 15 

15 – 19 12 

10 – 14 10 

5 – 9 5 

0 – 4 2 

 N = 75 
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 ~r.B©.Eg.-127  

{ejm _| ñZmVH$ (~r.ES>.) 

gÌm§V narjm 

OyZ,  2021 

 

~r.B©.Eg.-127 : A{YJ_ Ho$ {bE AmH$bZ 

g_` : 3 KÊQ>o  A{YH$V_ ^m[aVm : 70% 

ZmoQ> :  g^r àíZ A{Zdm`© h¢ &  g^r àíZm| H$s ^m[aVm g_mZ h¡ &  

 

1. {ZåZ{b{IV àíZ H$m CÎma bJ^J 600 eãXm| _| Xr{OE : 
 C{MV CXmhaUm| Ho$ gmW _mZH$-g§X{^©V Am¡a H$gm¡Q>r-g§X{^©V 

_yë`m§H$Z _| A§Va ñnîQ> H$s{OE & 

AWdm 

 AmH$bZ Ed§ _yë`m§H$Z Ho$ AÚmZyVZ àMbZm| (àd¥{Îm`m|) H$s 
MMm© A§H$Z ~Zm_ loUr (J«oqS>J) V§Ì VWm Iwbr nwñVH$ 
narjm Ho$ {deof g§X ©̂ _| H$s{OE & 

2. {ZåZ{b{IV àíZ H$m CÎma bJ^J 600 eãXm| _| Xr{OE : 
 C{MV CXmhaUm| Ho$ gmW AÜ`mnH$-{Z{_©V narjU Am¡a 

_mZH$sH¥$V narjU _| A§Va ñnîQ> H$s{OE & 

AWdm 

 Am°ZbmBZ narjm Ho$ g§àË`` H$s ì`m»`m H$s{OE & Am°ZbmBZ 
narjm Ho$ bm^m| Ed§ gr_mAm| H$s MMm© H$s{OE & 
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3. {ZåZ{b{IV _| go {H$Ýht Mma  na bJ^J 150 eãXm| 

(àË`oH$) _|  g§{jßV {Q>ßn{U`m± {b{IE : 

(H$) {Z{_©V (construct) d¡YVm 

(I) {Z`§{ÌV àË`wÎma àH$ma Ho$ {Z~ÝYmË_H$ nXm| H$m boIZ  

(J) {ZXmZmË_H$ narjU 

(K) _m¡{IH$ Ed§ {b{IV CÎma narjUm| _| A§Va 

(L>) {Z_m©UmË_H$ Ed§ `moJmË_H$ AmH$bZ _| A§Va 

(M) gVV Ed§ ì`mnH$ _yë`m§H$Z Ho$ gh-e¡j{UH$ joÌ 

4. {ZåZ{b{IV àíZ H$m CÎma bJ^J 600 eãXm| _| Xr{OE : 

 ~ma§~maVm ~hþ^wO Š`m h¡ ? ~ma§~maVm ~hþ^wO Ho$ {Z_m©U H$s 

à{H«$`m H$m CëboI H$aVo hþE {ZåZ{b{IV Am±H$‹S>m§o go EH$ 

~ma§~maVm ~hþ^wO H$m {Z_m©Êm H$s{OE : 

dJ© A§Vamb ~ma§~maVm 

40 – 44 3 

35 – 39 7 

30 – 34 9 

25 – 29 12 

20 – 24 15 

15 – 19 12 

10 – 14 10 

5 – 9 5 

0 – 4 2 

 N = 75 

 


